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Definition of visual question answering
Input:  Image + text question
Qutput: text answer from predefined set of frequent ones
(classification problem) h? —

Might they be dating ?
Answer: yes

Propagation of information over the graph s the woman exercsing 2 | Whatis the in doing ?
. . . z Answer: yes (i Answer: {#pHRg Jumping rope
from neighbours, over several iterations - |

Contribution: inputs represented as
. structured description readily available
nodes = objects
edges = relative spatial relations (dense connectivity)
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What color are the pillows on the

Who is sitting between toys ?
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Practically, this can be used to derive the answer : .
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